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kL
HBEE  KEH H15.1.24 | BbBHETHE = = 18M[;ZE R EFREIHILEAD MG
H15.3.20 2500 ${EX1E 41.6kni RSB BB
HEE  KEH H15.1.10 | BbBHETE 2500 #fER1E 77.2kn[iZ B B 7T MBI = RmE
B R H15.3.20 *E
HEE  KEH H15.1.31 | #pRhETE 2500 #{fER1E 84.7km| %% B BXESHNNROEEXE
H15.3.20
BEER  KEW H15.10.27| B # 5% E 2 HES 28[BBRE  KiEH F—Ia H LAV MR
H15.12.10 3k EES 9= =t
Ak BAES 1258
HER  KEWh H15.1.20 | :BERE 1R 2 BHES 3E|HBBERE K& LNV URERS
H15.3.31 4k BES 10455
500 1R 0.1k
HEER  KEH H15.1.20 [ B &R 2 HER Am|HER  KEH BtV ILTAVYT
H15.3.31 4R BES 14355 H#E
500 F 1Rk 0.2ki|
HBEE  KEW H15.10.27| & A E%E 2k HER 108 #EE XK&EH BIAERHA S
H15.12.10 44 BN 12555
BER EEM H16.2.16 [ /KB EHE 500 EHIX 1t 05km;#EIRE EEM FDAZS
H16.3.15 500 BXRL R {EL 0.2k
4000 H5—imE 7.3k
BEER  KEW H15.1.20 | BRE IR 2 HES 3E[HBRE XKEH AR HPHE
H15.3.31 AR BES 1535
500 F 1k 0.1kri|
HEE  KEWh H15.1.20 | :BER& 1R 2%k HES SR|HER KEM B®BXEHIELTYY
H15.3.31 4 BES 10985
500 1R 0.1k
BB JKORT H13.2.19 | T ith X B IE 2 HES 25|/ X T i R B 2R Rk M
H13.4.30 3k HES 25|86
HER HRE H16.2.2 (EEAZZ 2 500 PEAZZE R Mmﬂﬁﬁ B R HET (¥8)/8R3
H16.3.26
BEER  KEW H16.2.25 /N $E B4 pr 2R { 14 HES 28| HBE  KEH ORISR E (B
H16.3.22 2fp HES 8
HBEE FhBHET H15.10.27| BERE 2 HES 3R AREREEMA [t AN
H16.7.15 3k EES 5:|)IIBHAR
500 F IR 0.5k
A4k BES 0.5k
HEER  KEH H14.10.21] BEE AR 500 PEAZZE R 0.2kni|;#% % 18 2 #XEHTIF Y ILE
H15.1.20 | (BE{ZE#]EED) 2 BHER 15 vk
Ak BAES 578
500 FR-{E1E 0.2kn
HEER  KEH H14.10.21] BEE 1R 500 PEAZZE R 0.1kni|;#% % 18 2 B#BXSHBIIEIERTE
H15.1.20 2 BHESR 9= FEET
Ak BAES 645
500 1R 0.1kn
HEER  KEH H14.10.21] BE AR 500 PEAZZE R 0.1kni|;#% % 18 2 RBMmAE&tGHAat
H15.1.8 2 BHESR 45
Ak BAES 265
500 F iR 0.1k
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HEE  KEM H14.10.21| BB R 500 FEIZZE {2 HEBERE KEM g EHAIERA S
H15.1.20 2k BHESR =
A4k BAES
500 *F 1k
HBER  SIEE H15.11.13| &R EHE. 1000 #{ER L HER  SEET EFmEKRSH
H16.2.27 |EEAEZE 42 2500 B3NS IE
2500 FEAZZE i
1000 FEAZZE {2
2500 #{ER1E
BEER  KEW H15.7.1 (A RGISEE 500 FEFZZE 2 HEERE KEH EEITEIC)
H16.2.29 [t T—2ERK.
FEEAEZ 2 2500 FEAZEZE
1000 #ERE
4000 EEH
10000 EEX
HEE  SplTh H16.1.19 [T h X E 2= 2k HESR 2m|SPIUTHARE T Hh R E 218 () B3 —
H16.2.25 HE
BEER  KEW H16.311 | KB BRB &, 12500 h5—imE2 180.0kni| ¥ 37 1T B A A K E R A E =
H16.3.25 |EE4ZZEH#2 2500 EAMSIE 32.2kni| HEREEEEE MR 5
2500 EX AL RSIEIL  32.2kn|#A & EEAR
2500 FEAZEE 32.3k
HEE ERM H14.7.1 [BRRETE 2 HES I AREREEEE |FRAT =TI KR
R ERET H14.10.28 3|k % 11.6Km| TEEHEA =4t
8000 H5—im%2 10.8km
1000 BRI 1k 2.1k
HEE kO H16.7.28 |EE4ZZE 2 2%k FEIZE R 3ma(/K OBTRY IS it RIEZEIE (R FTM
H17.3.25 3k EEEEHR IS
HEE O BEEIET H16.9.13 | E R EHE 1000 HfER L 0.7kn{;# % RETTHIBIRER |(#&)/SZX0
Z50) 1| BT H16.12.28
#ER J\BWW | H157.22 |BHEE 2%k BER 2H[#ER  /\Amm STV
H15.10.20
HEE  FPRET H16.5.7 |EEAZZE 2 1000 FEAEZE #2 49.7km|;#E 2 HEET (#%)7—ILK
H16.10.29
HEE  KRFHE H15.9.24 [ B E. 2 HES 2m | AREREEEE [BRAEHMALIS
=ER KKH H15.12.26| EE{Z £ 2 Bk HEQ 23| BT
Ak BES 15
iRk % 25.0Km
1k RHRE 55
28 ARk E 55
HEE EEM H16.10.25| S Hh B # R 8E% 2k HESR 1R[ZER FE®M T PEY
H16.12.10
BEER  TIH H16.1.19 |&R T EARIVERR . 2500 FEAZZE 243k BB R RLHE ETAIEGE)
H16.3.26 |FEFZZE#2 10000 H5—RE 24 3k
2500 B ANEIE 25.3kn
HEE  KEH H16.12.22[5) I &1 5000 h>—iwE 11.5km{ T 2 3th 5 B i B EE MM |()GISEIT
Eéi H17.2.18 INES:&n
g
BEER  KEW H16.1.28 |ia] )| B 1 10000 H5—i&mE2 284.0kn[ T 2% 1th 5 Bk BEE A | A ARMZE®R)
H16.3.20 NEX:T
WHRFF  AOSRET H15.1.24 [ A1 &2 21k EIEEH 189 AR HERIENIE (KA A RIKRIZE
hnysEET H15.3.15 3k EEAREH 707 || BT
L3 BT 2500 FEAZZE L 154.0krf
FEEEMT 2500 #{ER1E 0.4k
HHEDH
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A{ELET
J\iEH
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SAHET
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RA™
EEm
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BREIIW
N
WAV maEsm H15.8.8 [ERRETE 8000 h5—iRE 8.8k R = EER AR WA |IMHAZS
H15.10.31 1000 B3HIX 1k 1.4kni| B2 25 &R
WA BRET H15.9.10 |EEAEZE 42 14k PEAZZE iR SH|FRENBAREMEE (B T7HETST
H16.5.31 2%k EEAZE R 8B EE
ik EEIZ LT 928
WA mHEDH H15.8.8 [IZIBEE 2 HES 55| RARF I T R R (RN o=FU T ()
H15.9.30 3k EES 6 | P
48R AAE R 0.2ki|
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REKF mAm H15.10.27| 1 th X i 2 38 2 HER 1R|RE&F @A™ #XstT7—1\-I—X
H16.3.15 3k EES 65
4R HES 375
WA |EET H13.7.13 |&R AT 5T E 2500 BAEIE 44.8kn| ERRF  BEETH BASHHT—ILK
H13.12.25 2500 BERREA%R{EIL 841k
WRABRF  LLIAET H15.6.25 | K& 1R EEAZ R 105 EEh AR RFERAER Xt N\RIFHBXIE
AEET H15.12.3 2%k HES 8m|EFEAT
4R BES 1305
3k Kk % 8.3Km
® = 16M
500 BRI 1L 0.4kri|
WREFF  AXEHET  [H15.1021| X B 2k HER IE|RARF  ASKIEHET AL F IR
H15.12.25 4k BES 134
500 1R 0.2k
AT AGEET H15.2.25 | F /KB EHE 2 HES 265 REAAF  AEET #A2H SHHAUSHRE
H16.3.31 3k HES 425
WERT  SEBEST H16.3.15 | EEA2 ZE #R 21p L R ARER BHL [(BT(tarHiLasb
R H16.3.25 3k FEIZE R 253 g [30] )1 E B B S
R R H15.7.2 |&RmrEHE. 2500 FEAZZE 6 HEBAT BT FRDATOTHEEMN
H15.11.27| EE{Z 7 ifh 2500 BRIk 18.0kn
R R H15.6.25 R BAETED = = 200M|REBIF BRI AZH  [7TO7MAKX ST =R
H15.8.30 2500 FERX{E 42.4kn XIE
R ST H14.11.18|ff 22 K Hh e 5% 3B £ 2 HES 6 5| KR BHETHEER B BRI ARIKRZIE
H16.3.31 AR BES 5655
45R K # 6.0Km
500 1R 0.8k
R BT H16.3.10 [Rb R R BRI 22 % 2500 #{ER1E 66.8km| FATFF @R L KEFFT|ERMER)
H16.3.25
R Fam H16.3.11 |$RE Hh 72 B 1 8000 h>—imE 1.0km| REBAF FALAEFF (7O 7HBIGD
H16.3.25 1000 #ERX1E 1.0k
® = 2M
koK # 8.0Km
Ak BAES 44
WRABRT  LLIAET H15.9.1 [T B 2k HER S5H|RERFILI T IR |BHIVYILIYBRE
H16.3.22 [(FEERIE) Bk HEQ 143 #t
44k BES 0.1k
WEBRF R H15.12.26| R &R T 3E h /= BE 10000 H5—iRE 859.0kmM| FRERFF FERTH T T RRIER)
H16.3.31 | T—2HEHEHE 15000 h5—iRE 30.0k
WA R H15.9.24 | B AR 2 HES 6| TR AERBEREBEE ([RAToo=TU T K%K
KL ET H16.2.13 afp BHES 95 m | BFEFT =1t
3k oK % 8.4Km
5000 ho—i& 0.4k
5000 & = 0.4k
35M
500 ${ER 1k 0.4kn
WHFF  =EET H16.6.14 | EIRETE 2k HESR 1R[REAFERNHERSE (AN O=T7IT )
H16.6.30 I3
AR HEEET H15.11.25| F/K:EEHE 500 $H1EXE 0.5k ZRARFF  HAEFET ¥Rt mHIUIR
H16.2.27
WA FAT H15.11.20 &% & 2k HESR 107 E R ARERRBEE |EEMERXSHTEE
A fELET H16.3.20 4k BES T2 | E ST E 3}
3k K # 8.0Km
500 %R 1L 0.5kl
WA AT H15.10.21 ;&R & 1R 2k HER 1BR[EEhAERERAE R |HATI/HAEH
H16.3.15 4k BES 101 8| 75T
3k K # 11.0Km
5000 h5—imE 0.5k
500 HER1E 0.5k
= = 0.5k
WRERE  J\WET H16.1.27 | RAEHE xT = 15IM|RAFRBEAREHK/F |72 7HBIED
mEAH H16.3.25 2500 EAIRE 77. 7k
HFHET BEH 133.5kni
FAHEE
HEF R H15.10.21 ;B R & 1R 2k HESR BR|ERNAERERRBEE XY Ia—
H16.3.20 4k BES 108 | 75T
3/ Kk #
5000 h5—imE
500 #{ERE
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R Wbkt H14.1.24 | ERR SR 2k K # TAKm|RERRF WG BRI\ RIRBXIE
H14.3.29 165
500 T 1R 1.8k
WA HikE™ H16.1.27 [fa&EtE 1R HES 6=|RARF W (¥R)/XX3
H16.3.31 3k BES 34
1#kok % 5.7Km
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3k K # 6.2Km
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WRERF BT H15.12.16[#A & 51T 1R HES S5E|RAR BT 77 AR
H16.3.31 2%k HES 8/
5000 H5—&RE2 21.0kn
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500 #ER 1k 4.2k
R =T H16.2.16 (T Hh R E B2, 500 PEAZZE R O.1km|FR#RFF =iETH ¥p)yroay
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1000 BERX B $R{EIL 6.3k
1000 FEAEZE #2 6.3k
2500 #EXE 429Kk
koK & 41.5Km
AR fEERT H16.6.8 |&RTIETE 2500 FEAZZE L 64.2kn[RARFF &SR ELTAIZEGR)
H16.12.4 12500 h5—iRE 48.0kni
2500 BAEIE 15.0k
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H16.3.25 4R BES 227 5| BT
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500 #ER 1k 0.6k
WERRT  AOZNET H15.5.16 |Rb A EHE z = 450M| SRR FF EE R ER T
FHRET H15.9.30 4%} PERRET I 3R
HEHET 2500 #ERXE 67.0k
I ERET 21.0Km
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I AT
R |t H16.3.11 B ZEEE 2 HES 3E|RANF BB BASHRHITX
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ABerF =T H15.9.17 (FEAZ 2 2500 FEAZEE 105.4kn| KBRAF =S4 L AV =P N & A
H15.11.20
AW BENIH H16.22 |EEAZZEiR 14 HES 25| KBRAF  EBRENIT RMAEFZETGE
H16.3.26
PN H15.12.10[; &8 R A 1k, 2 HES 28| KBRAF /™ E R £k
H16.3.31 |EE{Z Z #2 500 FEFZZE {2 139.6kn
500 PEAZZE R 135.7kn
500 FE{ZZ5 {2 127.0kn
ABerF =T H16.1.19 |EE & E i A 5000 h>—iwE 105.3kn| KBRAF =i T T RRIER)
H16.3.15 |Eh B E iRz 500 BER 105.3kn
1000 BEX 81. 1k
ABRAF RKER H15.11.20| b B2 ZE B R & 1R K # 69.5Km| KFRFF FHHIARERE |HASHIRTLH—Rq
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FHET
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AINREH
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RETH
AWRpF PFHES H158.1 [EEREK 14k PEAZZ i 105 KRFF  PIE™ 77 Al
H16.3.31 500 FEAZZE 2 12.3k
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KRFF =#HH H15.7.15 | BB & 1R 2 HES 15| KBRAF =#H FR)NRAKBRXE
H16.3.12 3k EES MR
48R S 0.1kri|
ARFF =&#m H15.7.23 | R &1 2 HESR 4| KBRF  Sih (A E=PNTEAS
H16.3.12
KBRAF BEFFFH  |H15.10.27|FE EFA) 2 BHER 17TR|KBRFF  BHFFH HAEHT—ILF
H16.3.25
ARFF =HE#H H16.1.28 | EER &1 2 BHESR 6| ABRFF EHEMTH B BEMEGRR)
H16.3.12
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H16.3.24 | (3thEE) =it
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KRFF  KBrm H16.1.19 [FI/KHEER B 18 2 HES 28| M ITBUE AR ERIERE (Xt —F—>—
H16.3.3 3k EES 3| RN BT
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KWRFF  KBr H16.22 |ZEERE 28 K # 88| KRBT FAREAKERE |MELEHEFKIVHILEY
H16.3.15 i b
K Edm H16.3.1 |BEAZEZE iR 1R HER 16 8| KIRFF Zrhth GISFATE (#)
H16.3.31 11k EERZZE R 258
2%k FEIEE R 1635
3k EAZE 1903
A4R FEIZE IR 61575
PN Tk H15.10.23| ;& 1R & ik 500 FHx -5 1E 0.1km{ XBRFF Edhth GISEAT (¥k)
H16.3.31 4fp B¥ES 8
KBepF spA™ H15.11.12| B SR A 1R K # 15.0Km| KB FF =FOT =HAEERETER
H16.3.31 104
PN H15.8.8 |FthEIE 2 HES 58| KRBT HEER B (B BEEMa LAY
H16.1.31 4fp HES A b
KRFF =#m H13.12.26| & B ETiE 2 HES 25| BABERAMBEAERAX | EMERTHXE4
H14.3.22 3k EES 25 |BR TEEHAT
3k K % 1.2Km
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KIRFF  EHEET H15.10.31[[(Z B E 2k HER 45| KBRAF  ZgEfT KIRFFEMIEE
H16.2.27 3k BES 6/
A4k BES 635
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H16.3.26
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ARFF =HE#H H16.7.2 [EEREIR 14 HES 5E| KIRFF  EHEMTH E R kR
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KRR #&A™ H15.9.24 [EEfZE 25 1 2k R E 18| BAERAFBERZMAX | EMHRGHAEH
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H16.3.31
KRFF  KBrm H16.1.9 [thiEZTBNAE 14% K # 120.3Km|KBxm  BER FER)ANSAVHFILEU b
H16.3.31
ABRAF WA H15.9.3 |#RmEHE. 2500 #EREIE 0.1km| KFRFF  WeHETH BATOO 7)o %R
H16.3.31 |FE{ZZE #2 2500 FEAZZE L 36.1k &%t
KIRFF  BrEE™ H16.7.21 | B EHE 3k EES 25 E&th AREREEEE |(BMHAIS
\LEH T H16.10.31 4000 H5—im%2 4.2ki| EFEFR
500 BRI 1L 0.4kn
T = 10M
500 F IR 0.1k
200 1R 0.1km
KIRFF  BEHFH H16.7.13 | F/KALIBIS &8 2 HES 15| KRB ARSI T KBS () AT LY —Ry
H16.11.30 3k HES A5 |FEFR
KBRAF  KBR¥EL™ | H16.7.2 | TF/KEEHE 2 HES 18| KB TR SRRt T K ESE Rl 2 5k E (k)
H16.11.28 3k HES 25| TP
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BEFFTH H15.10.21] £ 3t X B 2 38 2 HES 15| EER  #E%m FRX &3/
H15.12.13 3k EES 211
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500 3 1R 0.1kn
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P ERET H15.9.8 |[#A&EtHE 10000 H5—i&E2 155k EEIR  RERET BHEMERIESHHPAX
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EEPET H15.10.1 |t ih X B 22 38 2%k R NE TE[EHEZH A T X |(B)/\ B4t
H16.1.31 3k ARHE 195 |EREEE
2k BHER 18
Bk HAES 4/
4R BES 505
500 T 1R 0.1 kril
I ET H15.8.6 | B 2k HER 15| EEE SREERRBE [FHAXREFED
H16.3.19 3k BES 114
4R BES 0.2k
500 FiR-{E1E 0.2k
IMATH H16.1.10 |EEAZ 2546, 2%k BRRNE A5 EEE WA (BR)ABRRAROL Y ILAY
H16.3.20 | BB 2k ET 3k KR HE 25 b
fEWET™H H15.10.17|#h B2 = ENER & 14k K # 100.0Km| EER B HAmEKsE
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R RET H15.7.24 |tk B 500 F #x 0.2k EEIR  FERET (BR)HITROEEX#
H16.3.22 2%k HES 45
3k EES 15
48R AR 0.2kl
IEERT H15.11.5 |t ith X B 2238 2k HER 2| EER MEERT M4t/
H16.1.30 3k BES 18
3k K # 1.4Km
500 F IR 0.1k
44k BES 208
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H15.3.31 3k EER 4m: #t
4R HEQ 0.1k
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EER KA H16.3.2 [IZIBEE 21p L 6| EER  KAINHET (B # Al = a &
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